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On account of o 27 — 71D MWPY AR 1077 0K 27 21N
who said, ‘remove from you, distortions of the mouth’

OVERVIEW

"X interpreted M " according to X7wW. When two 27 contradict each
other concerning the death of the husband, the woman should not remarry;
however if she remarried she may remain married. The latter is on account
of X7 that the 9°nnn R"Y is believed 0°1w>. However initially she should not
remarry, on account of "OX 17; to remove any gossip or slander. The issue
here is whether this restriction (of not marrying initially) based on "oX 17, is
agreed upon by all, or is it just the opinion of 73mM° "1 (according to *2IX).

mMooIN anticipates a question and answers it; the statement ascribed to "oX 27, namely 907
TAn PRI 0NOW MY 15 MWPY T1n, is actually —
- HiNoanY 9939 YON 297 NN NI 709

A 20D (so why is it said in the name of *0X 177); however since oR 29 was
accustomed to cite it often, therefore it is credited to him.

nooIn asks:
—(ow 3,0p 97 Mna) DIYY AYNNI 1INT XD 9NN ON)

And if you will say; and that which we learnt in a mw» in TWR3 P79
2w, if -

= N8N XD D1 NXY 99N ThNX 19 N2 NHO) HN 9N TN 1Y
One 7y claims, ‘your husband died’ and the widow remarried, and
subsequently another X''Y came and claimed he did not die; the rule is she

is not required to leave her second husband. This concludes the citation of the 71wn.
=915 DIPNI U5 RYIY 9NN XYWIN KD N KXY XN NUNT NNYL XN 72999

And the X923 there asks; the reason she is not required to leave is because
she remarried already before the 701877 7v came, however if she did not
remarry yet, and the 7017 7V came, she will not be permitted to remarry;

how can this be for 82 ruled that wherever, etc., an x"v is believed X2 ™7
°IW DIPPA TR DWW 1127 PRY 2°w, so why can she not remarry?! This concludes the quote

from the X773, M0N0 concludes his question:
— 729573 NN NP N9 *NXDIY N 7999 NI

!'See v> mwn 7"s Max P79, and in the 2"y w7,
* It would seem more appropriate to insert 137 1 instead of X7, for X9 did not state specifically any
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And what is the X3 asking; for 87 did not rule that an X"V is believed
°1wd, only 72y°72 when she remarried -

= YON 297 DIVMN NYIN DT NN NAYNNY YaN
However, X7 admits that initially she should not remarry on account of
O 27, which would make X% in agreement with that mawn.’

N1B0IN answers:
- DT RNYO DT ONNT PNY 13929 I

And the >''9 says, that there the X723 infers from the 71wn that the reason

of X¥n XY is because she already remarried before the 20187 7V came -
- NS HNYI ON) NYIN KD NNYI XY OX NN

However, if she did not remarry before the 7017 7V came, she is not

permitted to remarry, and if she remarries she should leave -
= N8N ND 197 N2 9 9NN NNV RPYT PN0INN0 ¥yIWN '577

For this is the implication of the mwn»; only if she remarried and

afterward the 70X77 7 came, she is not required to leave -
- NOWT2 7599 590 DIVN NN N 79 INNY NINYIY 0P 191 N3 XD

However if the 701877 7¥ came before she remarried and she remarried
afterward, the rule would be Xxn (even 72¥°72), that is why the X n3

challenges this ruling from X9, who maintains that 725772 the 7¥ is certainly
believed o°1w> and she may remain married.*

MooIN continues to ask:
= RYD N1NNI NN X THN 1Y 9INRD 2907 0NN 2IWN 95N) 9NN ON)

And if you will say; and how then does the X723 answer there (on the
abovementioned question) that this is what the 71w»n means: ‘one 7¥ said

‘he died’ and 7"°2 permitted her to remarry (but she did not remarry yet) -
- A5NNAY XUINM ¥RUN *PYNIN NNNN KEN XY NI RY 90N NN N2

difference between 1171037 and 7273, it is only 13m° "1 (according to »ax) who makes this differentiation.

? It is possible that MmpoIN initially stated that 31 Jam 907 is a P10 in order to bolster his question. If it is
merely a statement of *OX 27 (who was an XMnR), it is not that likely that the 77113wn would have to subscribe
to this view, that she should be 17mn3% Mox. However if it is a P09, then it is (more) likely that the miwn
would rule in a similar fashion.

* The question (on X91) is not, why she should not initially remarry (if the 90'8:1 79 came before marriage),
but rather why if she remarried (even after the 107 7v came) she cannot remain married. We will interpret
the question Xwin X? NRW1 R? N7 to mean X¥N NRWI XY RWIN X? NRWI R K.

3 x¥n &» does not (merely) mean she does not leave her husband (if she remarried before the 7077 7% came)
but rather, she does not lose her 7n°7, (even) if the 70IR77 7 came before she remarried.
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And another 7V came and claimed he did not die; the rule is she does not
leave behind her initial permissibility (this concludes the answer of the
x3:° Moo continues that), this indicates that she may initially

remarry!7 This contradicts what the X773 maintains here that even when an X"y is 12K1
o°awd, she cannot marry 1171037 (if there is an 70IX77 7Y), on account of oK 2.

MDOIN answers:
— NV XY NINNIY INTIT 9210 U

And one may say, that certainly she may not remarry 77%1n5% (on account
of "ox 17) -
= N8H XD NNY ONT 12399 PYNRIN NN N8N N9

And the meaning of WK277 87°n7% X2 KV is referring to a case, where she
did remarry (after the 70187 7¥ came), then 72¥°72 she is not required to
leave.

SUMMARY

The 73wn in M2 may follow the opinion of *0X 27 that when there is an 7¥
q0IR7 (even if he came after the 2°nni 7v), she should not marry 75nnd5.
However 72¥°72 (even if she remarried 70°X1), she may remain married
([only] if the 70187 7¥ came after the >N 7).

THINKING IT OVER

In a case where we rule Xwin X7 (an 7Y against an 7¥), and she remarried, the
rule is WX 7790072 R¥N RS and she may remain married; just as she would
be allowed to remain married when she married 7n°72. However when she
remarried 7n°72 (when there was only the 7°nni 7v), the reason for this An°n
1s because X201 Xp»7 AWK, therefore we can say that even if the “0W7 7V
came later, nevertheless Xxn X%. However in the case where both 0>7v came
before she remarried, and she remarried M0°X2, there is seemingly no 7PN
that X201 Xp»7 WX (for she remarried M0°X1), then how can we allow her
to remain married without this 7pm?!®

® noon assumes that the X3 is answering that since no*1 means Xw1? M1°n7, then we cannot be 71 that
if nRw1 after the 70W:1 7V came she should be X¥n , since No*1 means Xw? M7°N7, and concerning this Man7
the nawn states R¥n X7, meaning that even if the 107 7v came before she remarried R¥n X>.

7 When the 9°n»i1 79 came (alone), 7"°2 was Xw2 m°n7, which means they gave her permission to remarry;
it follows that the WX RPN RYN K2, means the same, that she is still permitted to remarry.

¥ See nw nK.
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